UGCL Uttar Gujarat Vij Company Ltd.

PR No:	349041 47842	
RFQ No:		
CIN :	U40102GJ2003SGC042906	

ADVERTISED TENDER NOTICE NO... 01 /2018-19

	for Labour charge for fabrication of various line item (Part-2) for 1 Division.
Estimate cost.	Rs. 499763.00
Earnest Money.	Rs. 5000.00 in form of cash/ Demand Draft of nationalized bank
Security Deposit.	5% of Order value
Last Date of tender received	Date: 24-04-2018 On 18.00 Hrs. (By RPAD)
Date of opening the tender at	Date: 25-04-2018 On 15.30 Hrs. (If Possible)
Type of tender	Percentage Rate.
Tender Fee	Rs. 500 + 18% GST (500 + 90 = 590)
Time Limit.	12 month

Earnest money deposit will be accepted in cash or by demand draft on any nationalised bank at DEESA in favour of UTTAR GUJARAT VIJ COMPANY LIMITED. Cheques or Bank guarantee will not be accepted. The tender without Earnest Money deposit will not be accepted. The date of D.D of EMD should be within 10 days from the date of receipt of tender.

Tender received through RPAD will be accepted.

	penditure) sa-1,UGVCL		EXECUTIVE EI DO Deesa-1,	
(1)	To be filed in the Tender. Tendered Value :			
(2)	(To be filed by the Contractor) Earnest Money Deposit Paid vide DD No.	Rs Date	Rs	
(3)	 GST No.	Dat	e:	-

Regd. & Corporate Office: Visnagar Road, MEHSANA - 384 001 (North Gujarat)Telephone: (02762) 222080-81Fax:(02762) 223574Website: www.ugvcl.come-mail: corporate@ugvcl.com



SCHEDULE:-B

Name of Work: - <u>Tender for Labour charge for fabrication of various line item (Part-2) for DEESA-1</u> <u>DIVISION.</u>

Sr. No.	Description	Qty	Labour Rate	Unit	Amount
1	Labour charges for fabrication of V-X arm from65x65x6mm M.S. angle (9910000027)		25.5	No	25500.00
2	Labour charges for Top fittingfrom 65x65x6mm M.S.angle and 50x6mm M.S. flat(9910000028)	3676	7.6	No	27937.60
3	Labour charg <mark>es for</mark> anchor Rod from 65x65x6mm M.S.angle and 16 mm sq. round bar. (9910000032)	2000	7.6	No	15200.00
4	Labour charges for Turnbuckle from 65x65x6mmM.S. Angle and 16mm surround bar. (9910000034)	2000	7.6	No	15200.00
5	Labour charges for fabrication of eye bolt from 16mm sq. round bar 2 Nuts Supplied by Fabricator (9910000036)		27.9	No	181350.00
6	Labour charges for fabrication of C clamp (U) for LT shackle insulator made from 50x6mmM.S. Flat (9910000039)		3.5	No	12250.00
7	charges for fabrication of Earthing coils made from G.I.Wire No.8 (9910000094)	2500	8	No	20000.00
8	Labour charges for fabrication of side clamp for PSC pole made from50x6mm M.S. Flat. (9910000040)	6000	4	No	24000.00
9	Labour charges for fabrication of stay clamp pair for PSC pole made from50x6mm M.S.Flat (9910000041)		6.5	Pair	41600.00
10	Labour charges for fabrication of side clamp for 100x116 mm Girder made from50x6mm M.S. Flat (9910000037)	250	4	No	1000.00
11	Labour charges for fabrication of stay clamp pair for 100x116 mm Girder made from50x6mm M.S.Flat (9910000038)	100	6.5	Pair	650.00
12	Labour charge for Fabrication of 3 Hole Patti From 50*6 mm M.S. Flat L:-250 mm (9910000042)	2000	2.55	No	5100.00
13	Labour charges for fabrication of 2.75 Mtr angle made from 65x65x6mm M.S. angle. (9910000044)	3500	8.9	No	31150.00
14	Labour charges for fabrication of 1.200 Mtr angle made from 65x65x6mm M.S. angle. (9910000065)	2500	7	No	17500.00
15	Labour charges for fabrication of 0.75 Mtr angle made from 65x65x6mm M.S. angle. (9910000046)	3000	7	No	21000.00



16	Labour charges for fabrication of .760 (DO) Mtr angle made from 65x65x6mm M.S. angle. (9910000079)	1500	14	No	21000.00
17	Labour charges for fabrication of 1.800 Mtr Channel made from 100*50*6 M.S.Channel & 50*6 M.S.Flat (9910000087)	500	37.95	No	18975.00
18	Labour charges for fabrication of 2.75 Mtr angle made from 50x50x6mm M.S. angle. (9910000075)	1500	8.9	No	13350.00
19	Labour charges for fabrication of 1.200 Mtr angle made from 50x50x6mm M.S. angle. (9910000067)	1000	7	No	7000.00
(A)	TOTAL				499762.60
(B)	Bidder's Offer (+ / -) in %			-	
(C)	Grand Total = A +/- (A x B)				
(D)	(GST Rate:%) = C x GST %				
	SAC Code:				
(E)	Grand Total including GST = C + D				
	Final Offer (in Rs.):			-	
	Final Offer (in Words):				

1. The Bidder Shall quote FIRM PRICES only. The Prices quoted will not be subject to any escalation till completion of work.

2. The Above prices are inclusive of all taxes, levies Duties etc. except Goods & Services Tax (GST). GST will be paid extra as applicable from time to time on a given taxable goods and/or services.

Note:-

(1) Row materials supplied by Company.

- (2) Throe & Fro Carting Carried out by Company.
- (3) Holes & cuts scrap need not to credit hence rates quote accordingly

(4) The above item qty. may be change as per req. but within limit Rs 5.0 Lac

(5)All fabrication item made as per our drawing & specification

(6) The works carried out as per instruction of in charge engineer

(7) Scrap should not be more than 1.5%

(8) In all Fabrication item Quantity may be change as per our requirement within total amount of limited tender.

Contractor's Signature.

Executive Engineer UGVCL D.O. Deesa-I



CONDITION FOR FABRICATION OF VARIOUS ITEMS.

- 1. The total value of order will not exceed to Rs. 5, 00,000-/.
- 2. The period of contract shall be for one year from the date of commencement of order. This office reserves the right to terminate the contract at any time without assigning any reasons whatsoever by giving ten days' notice in writing to the contractor. In such case, the contractor shall not be entitled to any compensation by reason of such termination of contract.
- 3. It may be noted that the quantities shown in Schedule-B are approximate & payment will be made for the actual quantities carried out as per item rate on the basis of sub work order.
- 4. You shall have to enter into a formal agreement on a stamp paper of Rs. 50/- & execute the indemnity bond on a stamp paper of Rs. 100/- at your own cost & contract booklet also to be signed by you.
- For due performance of the contract you will have to pay 5% of the ordered value i.e. Rs. 25,000/-(Twenty Five thousand only) as security deposit in cash. This office reserves the right to recover any dues outstanding against the contractor and/or towards any loss caused to the company owning to neglect or default of the contractor No. interest will be payable on security deposit.
- The work shall have to be completed by you within the stipulated period mentioned anthem sub work order otherwise penalty will be levied as per our rules. However, this office reserves the right to grant extension in time limit as its discretion on furnishing valid genuine reasons by you in this regard, the decision of the competent authority shall be final & binding to the contractor.
- 5. The contractor shall execute the whole and every party of work strictly as per the specification of the order in the most substantial and work man like manner. The contractor shall also confirm exactly, fully and faithfully to the design, drawing and instruction specification relating to the work assigned by engineer-in-charge all the works under execution shall at all times be open to the inspection & supervision by Engineer-in-charge.
- 6. The Executive Engineer shall have power to make any alterations or additions to original specification, designs, drawing that may appear to him to necessary or advisable in the best interest of company and the contractor shall be bound to carry out the work accordingly and such addition and or alteration shall not invalidate contract
- 7. If the work has been found executed with unsound, imperfect or unskillful workman ship or with materials of interior quality or otherwise not in accordance with the specification of contract, the contractor shall be bound to rectify or remove or reconstruct the work so specified in whole or in part within the specified time limit and in the event of his failing to do so, the work shall be got done and completed by alternate agency at the risk and cost of the contractor.
- 8. If any time the Executive Engineer shall for any reason what so every require the whole or any part of the work as specified in the tender to be stopped for any period of shall not require the whole or part of the work to be carried out at all the contractor shall have to claim to any payment or compensation what so ever on account of any profit or compensation what so ever on account of any profit or advantage which he might have derived from the execution of work in fuller for unemployment of labour recruited by him.



- 9. The raw materials like round bar, angle, flat, channel etc. required for fabrication work shall be supplied by the company to the contractor from the Divisional Store Deesa-1 in anticipated quantities that are just sufficient for the execution of work to be carried out by him or sub order basis being place under the annual work order from time to time on production of prescribed materials requisition duly signed by the contractor.
- All the materials supplied to you by this office shall remain absolute properly of the company. You will be solely responsible for its safe custody as well as for the loss, theft, destruction or deterioration etc. of the materials.
- 10. You shall not be allowed to transfer materials from one work to another work to another work without written permission of the undersigned, justify the reasons for transfer.
- 11. All the works shall be measured, meet by standard measures and according to the rules & custom and usual in the use of the company and no proposal to adopt alternative method will be accepted. The Executive Engineer decision as to what is the usual method in the use in the company shall be final.
- 12. After completion of work as per sub-work order and material is ready, UGVCL will arrange to collect it from your work. You will have to submit the bill sub-work order wise in duplicate along with the materials A/c. statement to the undersigned through DE (Store) for its passing & payment. The labour should be provided necessary facility for easy loading of fabricated items.
- 13. The payment will be made to the contractor at the contracted rate per item on the basis of the actual work carried out by him after completion of work in accordance with the specification and on submission of the bill along with the materials account statement together with stamp advance receipt and after recording the measurement by the competent officer of the company by " A/c Payee " cheque drawn on any schedule bank at DEESA-1 normally within sixty days from the date of receipt of bill.
- 14. While making the payment, income tax & or any other tax/levy etc. will be deducted at the prevailing rate from bill of the contractor wherever applicable as per rules enforced from time to time and a certificate to the effect will be given by the company to the contractor wherever necessary.
- 15. The company also reserves the right to enter into a parallel contract with any agency at any rate and on any terms & conditions as deemed fit even during the currency of the contract.
- 16. It shall be the responsibility of the contractor to observe all the provisions and maintain all required/relevant records in absolute matter as per the statures, labour laws, factory act, ID Act, minimum wages act, shop & Ests.Act, EPF & MP Act, workman compensation Act etc. which are applicable & which may become applicable to this contract. The contractor shall also solely responsible for any fine, penalty etc. whatsoever if imposed by any authority for any breach violation of any of the rules & regulation.
- 17. Contractor will indemnity and keep indemnified the company against any suits, actions proceeding etc. arising out of any claim or demand for breach of any rules, regulation, default etc. further the company does not assume any responsibility, liability for the same.
- 18. The company's (erstwhile GEB) general terms and conditions relation to the works and contract as standardized by the company (Erstwhile GEB) but not specifically brought out in this order shall also be applicable to the contract and binding to the contractor and shall form part of this



contract. The copy of the said booklet containing such terms and conditions will be available at the office of the undersigned at the prevailing rate.

- 19. Any dispute or difference arising under, out of or in connection with this contract shall be subject to the exclusive jurisdiction of Deesa-1.
- 20. To make fabrication, the raw material will supply by UGVCL and necessary facility for loading/unloading of material will provided by fabricators at their site.
- 21. Tenders are invited from experienced fabricators having work site situated as Deesa/Chandisar/Palanpur.
- 22. Scrap should not be more than 1.5%.
- 23. The above item quantity may be change as per requirement but within limit of Rs.5.0 Lac.
- 24. The rates are inclusive of PF and all other State/Central Government taxes. All type of Excise duty tax, sales/VAT tax, Service replaced by GST.

Name of Terms & Conditions	To be added/ amended		
Tender Fee	Plus applicable GST		
Prices	Replace Excise Duty, VAT/Sales Tax by GST		
Excise Duty Sales/VAT (Value Added Tax)	Replace Excise Duty, VAT/Sales Tax by GST		
Octroi	To be deleted		

Pre-Qualification:-

Tender fee +GST as applicable

A). The contractor should be registered under the Goods & Service Tax. The contractor not Having GSTIN shall not be considered for acceptance of the Tender.

B). PRICES:- The Bidder shall quote FIRM PRICES only. The prices quoted will not be subject to any escalation till completion work. The above prices are inclusive of all taxes, levies, Duties etc.except Goods & Service Tax (GST) will be paid extra as applicable from time to Time on a given taxable goods and/or services. Also please mention **SAC Code** and rate of GST as Applicable.

C). GOODS & SERVICE TAX(GST):-

UGVCL GST No. is:- 24AAACU6551F1ZI

The firm prices are exclusive of Goods & service Tax as applicable. The amount and rate (%) of GST as applicable should clearly be indicated separately. (GST means all applicable Tax/cess under GST laws. GST Laws means IGST Act, GST (Compensation to the State for Loss of Revenue) Act CGST Act, UTGST Act and SGSCT Act-2017 and all related ancillary legislations).Contractor should charge GST in invoice at the rate as agreed to/mentioned in acceptance of tender only any deviation in the same shall not be accepted. Further, any additional liability of GST (later on due to wrong mentioning of GST rate, mis-interpretation of HSN/SAC Code etc;) over and above as charged in the invoice shall be borne by the contractors. However any refund received by the contractor on account of GST charged from the company; such refund shall have to be passed on to the company, along with interest if any. Such refund along with interest needs to be passed on suo-moto by the contractor. Further, the company



has a right to recover the amount of GST along with penal interest at the rate of 15% per annum or interest/fees & penalty charges under GST Law, whichever is higher if GST charges is not paid/short paid to the Government or failed to upload the details or uploads inaccurate particulars on GSTIN portal by the contractor within the stipulated time limit.

D). STATUTORY VARIATION:- Any statutory increase or decrease in GST as applicable or in the event of introduction of new tax/cess or cessation of existing tax/cess subsequent to the offer if it takes place within the original contractual completion date will be to Company's account subject to the claim being supported by documentary evidence. However, if any decrease takes place after the contractual delivery date, the advantage will have to be passed on to COMPANY.

E). PENALTYS FOR DELAYS:- The delivery, errection and commissioning periods (as applicable) shall be guaranteed under penalty clause mentioned below. Any delay that may take place in erection and commissioning activities beyond contractual out of date shall be subject to penalty at the rate of 2% of the contract value (of delayed materials/works) per month or part thereof subject to a maximum of 10% of total contract value, Plus GST as applicable.

Bidders shall have to furnish relevant documents for payment of GST as applicable along with each RA.Bill.

***SPECIAL INSTRUCTION :-** With tender you are required to submit copy of EMD Receipt, Licence copy, Original Solvency Certificate, PAN Card copy/GST registration Certificate copy. If you are lowest than, you have to pay 5/10 % Security deposit of order value. Execute the agreement, Indemnity Bond, Sub order may be issue after complete the above official tender formalities.

Contractor's Sign.

